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No. of Questions : 150
WAl B FE T - 150

Time : 2 Hours | [ Full Marks : 450
wqy : 2 gve ) [ yorfg: 450

Note : (i) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer. Zero mark will
be awarded for each unattempted question.

HFHIS UTRT B BT o BT T PR TS ued 3 ([@fF) % @ B TS
T GOV @ 117 O Sid HICT T | VRS JTART W &1 WKis g 8

(ii) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

Ify vaits dafusr SR ) =R & foe uaia 8, @ Moy w8 sk |

1. The planet nearest to the Sun is ....c.cceeveeeneeeen

(1) Mercury (2) Venus (3) Mars (4) Earth
T B T T TE e B |
1) @ o= (3) e @ g=h

2. The planet farthest from the Sun is ........ccoeueeaes
(1) Saturn (2) Pluto (3) Neptune (4) Uranus
T Y TR R RIT TE oo B
(1) ufx (2) BR 3y Fem (4) 3revr

3. The planet having the maximum number of sateilites is ...........cccenen
(1) Jupiter (2) Neptune (3) Saturn (4) Uranus
(1) geiy (2) avu (3) ot (4) S0

4. Which one of the following planets has its period of rotation less than one day ?
(1) Mercury (2) Mars (3) Venus (4) Neptune
Freforiee & et e @) Sui-aafy vw Ry & F 2
1) (2) =< (3) b (4) axvr

(1) P.T.0.
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5. Who among the following scholars was a supporter of monistic hypothesis of
earth's origin ?

(1) T.C. Chamberlin (2) Russell.
(3) James Jeans {4) Laplace
FrfrRes gt § P goft 2 St @ ardaad) TREE B AvE o ?
(1) o o Wraxfer (2) @A
(3) =T ST (4) dTTE
6. Which one was the éaﬂiest period of Paleozoic era ?
(1) Silurian - (2) Permian
(3) Cambrian (4) Carboniferous
Uferiiolge WETheq Bl WANYH ey BI-a1 o 7.
(1) RrgRa | (2) ufar
(3) dfgas - L (@) o
7. Which geological period is known as 'age of human evolution’ ?
(1) Holocene (2) Oligocene
(3) Pleistocene (4) Pliocene

foo Sty weq @ A B I H G D wY H W 9T e 7

(1) ErRhT (2) e
(3) wierM (4) <IERA

8. -Which one of the following does not belong to the group ?
(1) Uniclinal valley | (2) Fault line valley
(3) Joint valley | (4) Resequent valley
Frefofe ¥ @ o & wrafd 7er 2
(1) gafeT=a =t (2) w9 X A
(3) wfer endt (4) argadt wrd

8. The average thickness of the earth's crust is .................... K.
U A NET ATH .oevevrenerenenn, fEA B
(1) 45 (2) 55 (3) 35 (4) 60

(2)
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11.

12.

13.

14.
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Which one of the following is not a genetic class of river valleys ?

(1j Synclinal (2) Insequent

(3) Consequent (4) Obsequent

frfoRag § #f7 9d wifeal & afe ot 78 2 7

(1) =R (2) SrpHaH]

(3) ergaet (4) wrargeeht

Which one of the following is not an erosional work ground water ?
(1) Solution (2) Hydraulic action

(3) Abrasion (4) Condensation
fefaRea & o Y oa &1 daReToE B T8 @ ?

(1) =refreRe (2) SterTfy

(3) IuErsor (4) gaq

Which one of the following does not belong to the group ?

(1) River terraces (2) Flood plains

(3) Water fall _ (4) Pot holes

e 3 o wp @ wafug 7@ ?

(1) 7 ARy (2) WG F AEF

(3) el wT (4) Wt i

Natural levees are formed by .................... action.

(1) Glacier (2) Wind (3) River {4) Ground water
APAD TCEH cvoveerrrrrererans T B G I B

(1) faad (2) ga+ (3) T8 (4) T o
Which one of the following is an extrusive volcanic landform ? |

(1) Laccolith (2) Ring dyke

(3) Batholith | (4) Crater and Caldera
rafafaa & = Saemgd far gw (3% 9 wemeta @ 2

(1) s ) R s>

(3) shforer (4) TR (@ BT

{3) P.T.O.
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15.

16.

17.

18.

19.

20.

Which one. of the following is not a type of earthquake waves ?

(1) Longitudinal (2) Surface (3) Transverse (4) Terminal

Frafafen & 19 qEuwi~a a9 & SR T8 8 ?

(1) srgaed (2) erracha (3) argrer (4) 3t

Lapies and Terra Rossa are landforms produced by .......cccocenees

(1) Volcanoes (2) Wind

(3) Sea waves (4) Ground water

CL UGS TR 31 AT T SO WATHR & |

(1) aremgen (2) was

(3) AR T (4) fira @

Which one of the following is the largest (Population) city of India ?

(1) Mumbeai (2) Delhi (3) Kolkata (4) Chennai

fyfolaa # ®1F wRa &1 goxd (Tee)) TR 8 7

(1) @) feeed (3) e (4) ¢,

As per Human Development Index Report 2009, prepared by UNDP, India
- ranks e, among 182 countries of the word.

Y @ & @ A Aee G gEwie R, 2009 @ sgER fAvg © 182 d9i # 4R

(1) 92 (2) 132 (3) 134 4) 102

Narmada delta is an example of .................

(1) Estuarine delta (2) Truncated delta
(3) Rectangular delta (4) Birdfoot delta
(1) SaTagEdl St Q) WAGR S
(3) ATTTHN T (4) YSTPR Jeer

Which one of the following is not an erosional landform produced by river
action ?

(1) River meanders (2) Ox-bow-lakes

(3) Alluvial fans (4) Monadnocks

(4)
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ﬁwﬁﬁ‘éﬁﬁaﬁﬁﬂﬁfﬁrﬁmﬁﬁﬁmwﬁ 78 ?
(1) & faad (2) TER
(3) wielie U@ (4) AATSAT®

Which one of the following is a depositional landform produced by ground
water ?

(1) Natural tunnel (2) Swallow holes
(3) Stalactite (4) Uvala
Rreifafea § @ fimg we B FIftT Piwers g & ?
(1) upfa® g (2) feram fos

(3) asrTgarH (4) Sarer

Which one of the following is a coastal depositional landform ?
(1) Tombolos (2) Stack

(3) Sea arch (4) Sea caves
e ® o9 dead! MeauTdHe Warpa & 7

(1) drEm (2) R®

(3) WY HER (4) Iy @R
Which one of the following does not beleng to the group ?
(1) Inselberg (2) Zeugen

(3) Demoiselles : (4) Bajada
frafofea & B wgE @ g Td 2

(1) gt (2) s

(3) (4) I

Which one of the following is a depositional landform produced by wind
action ?

(1) Hamada (2) Stone lattice
(3) Mushroom rock | (4) Barkhans
frefoiaa # & 9a9 g [Affa FHéaed weremgia @ 7
(1) ssmar ' (2) wrelER Ren
(3) waw Rren @) ~==EF

(5) P.T.O.
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25.

26.

27.

28.

Select the odd item in the following group :

(1) Kames (2) Moraines

(3) Eskers (4) Roche Moutonee
frferfaa g & evrrg og &1 =99 IR ¢

(1) &9 (2) feue

(3) TEHN (4) o e

An inverted boatlike depdsitional landform in a glaciated region * xown
T SR

(1) Hanging Valley (2) Drumlin
(3) Nunatak (4) Craig and tail
g3 ¥ S AE W TRE D AUES AP e i—ﬂm i
S AT # |
(1) eesd ad (2) g

(3) TTew (4) 57 I

Which one of the following is not a process of chemical weaherms in a
periglacial region ?

(1) Salification | (2) Hydration

(3} Hydrolysis | (4) Oxidation

Preaferia ¥ A aRRA &1 ¥ TR Jre @ e i T E T
(1) wfafoa (2) wrERE

(3) V& e (4) ifefsTH

Solifluction is a major process associated with .....coceeeee

(1) Wind action | (2) Volcanic eruptior.
(3) Mass wasting (4) Rive;' erosion

(1) va P (2) vaeIrg SR
(3) & &RV (4) T AU

(6)
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The ear liest epoch of the Tertiary period was ....ccooewweeeeunee.

(1) Pliocene _ (2) Palaeocene,

(3 'OIigocene. (4) Eocene

GNT TS BT FEITH T AT eoveecncrrsennns | |

(1) =T (2) Uferard=

(3) anferidry (4) s

Which one is the topmost layer in the hetero sphere ?

(1) Atomic hydrogen layer (2) Molecular nitrogen layer
(3) Helium layer (4) Atomic oxygen layer |
fey wes § walfes S @8 AT 2 7

(1) SR WA TE (2) IS AIEET TE

(3) &R aE (4) SifedioT Ty T
Mesosphere lies between ......c.ouveeee. .

(1) Thermosphere and Exosphere (2) Stratosphere and Thermosphere
(3) Troposphere and Thermosphere  (4) Troposphere and Stratosphere
TH TG oo @ i # R ¥

(1) TS Ud 9T AuSe (2) THATIRCSH Ud qIaRvSe
(3) uRadwved vd aoAved (4) TRedTTSe Y4 GEAITHISH
Which one of the following is not a type of temperature inversion ?

(1) Frontal inversion (2) Advectional inversion

(3) Mechanical inversion (4) Latitudinal inversion
frerforfad & &9 amEE AfeA A &1 1@ yeR TE 8 Y

(1) awmira wioama (2) ¥fasta ufeel™A

(3) Tify® wfaer (4) ey glid=

How many high pressure belts are found on the globe ?
T W SwEarge B o Awerd oy ol § P
M2 @3 (3 4 () 5
(7) P.T.O
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34.

35.

36.

37.

Which one of the following is not a law relating to wind direction ?

(1) Ferrel's law | (2) James Bradley's law
(3) Buys-Ballot law (4) Hadley's law
frafaflea & a9 ya= & Rur aw=f Rigsy 7872 ?

(1) et B R @) S e o Rigrr
(3) I Yo &1 figra (4) &sed o fagra

Low-Thian Green's Tetrahedral theory is associated with rerreree e
(1) Origin of mountains (2) Distribution of mountairs

(3) Origin of continents and oceans (4) Origin of earthquakes

(1) 9ddi # SRy (2) uddl &1 faavor

(3) 9EEN Td ARl & SRy (4) W= @t Swfn
Which one of the following is a planetary wind ?

(1) Moﬁsoon (2) Chinook

(3) Polar winds (4) Westerly jet streams
Frefofas # # vsda gad & ?

(1) =g | (@) fo

(3) g @) wRE o w@m

The river valley to develop perpendicular to the general slope of T region is
called .....ccoccvirinan.

(1) Obsequent (2) Insequent

(3) Consequent (4) Subsequent

?%Wmd%qudﬁﬂﬁﬁﬂﬁaﬁﬁmafﬁ‘u ....................
[

(1) wearad (2) SBAadt

(3) argaft (4) et
(8)
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40.

41.
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Line drawn over a map to join places having similar amount of rainfall is
called ....ccocinemnean :

(1) Isohyet (2) Isohaline

(3) Isoneph {4) Isochrone

HET I 2 |

(1) IgHEET (2) BT
(3) SMEENG (4) s

Roaring Forties are westerly winds generally blowing between ..................
latitudes.

(1) 40°~-50°N (2) 30°-40°S (3) 40°-5005 {4) 30°-40°N

A twelve-sided figure representing wet-bulb temperature and relative humidity
is known as ...

(1) Climograph (2) Hythergraph

(3} Ergograph (4) Band graph

e ged amAE AR wofde ardar mefia #Re gl 12 genm @ I @l
.................... & T J ST o 2

(1) aemgHITS (2) B

(3) TS (4) s U

World climatic regions based on the climatic needs of vegetation were put forth
in1900 by .vvviceerecnnnn

(1} G.T. Trewartha (2) Vladimir Koppen

(3) C. W. Thornthwaite (4) L. D. Stamp

I @ SoaEle aaegwaet $ IR 9R 1900 ¥ i@ @ weag wREl @
(1) sfto o fearrt 2) @R B

(3) ¥o sy Yffede (4) Teo Sho Wy

(9) P.T.0.
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42. What percentage of earth's total volume and weight is accounted for by the

mantle ?
(1) 83 and 68 (2) 83 and 58
(3) 73 and 68 (4) 80 and 70
edl & Gt A @ WR T R e Aew ¥ Rifed & ?
(1) 831d 68 (2) 834458
(3) 7374 68 4) 80wE 70
43. TRing of fire' is associated with the distl_'ibut'ion of i,
(1) Warm sea currents (2) Petroleum
(3) Volcanoes (4) Global warming
HARATAT .overirerrrrenn, B IR F PG B
(1) ™ TR (2) Y
(3) e (4) Maw o=
44. Atlas in Africa is an example of .......eeveeeee
(1) Mountain of accumulation (2) Folded mountain
(3) Block mountain: (4) Residual mountain
FHBT  RIT AT oovvirerevrnren, B G ISR 2
(1) Sudi wa (2) afera udq
(3) =® ydd (4) safdre udq
45. Lassen Peak volcano is located in .o...v.cvveennn. ©
(1) U.S. A. (2) Japan (3) Italy (4) Indonesia
(1) ¥o o IWRBT (2) WA (3) gTont (4) sveEfmr
46. River Ganga presents an example of .........coeieenne drainage pattern.
(1) Rectangular  (2) Trellised (3) Dendritic (4) Herring bone

(1) FEABR (2) wRArgAr (3) UIRUIHER (4) T 9=
(10)
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Mesopause is located in the atmosphere ............c.... .

(1) Above Mesosphere (2) Below stratosphere

(3) Below Mesosphere - (4) Above Thermosphere

(1) =avsd & SN (2) swaTETSe & A

(3) TIHvSH @ T () TuEed B W

Average slope of continental sunk slope is ......cccceee.

(1) 10 (2) 150 __ (3) 5° (4) 20°

The type of rainfall occuring in India during the Monsoon period is .....c..cooceniees .
(1) Convectional (2) Orographic

(3) Cyclonic (4) Advectional

ARd & ARG Iafd & @R el a9 .. HBR W B

(1) Hagd VARCEGIC

(3) Tsharig (4) sf¥as-a

Which one of the following rivers does not originate from Tibet 7

(1) Sutlej (2} Jhelum (3) Indus (4) Brahmaputra
Preferaa afeal ¥ @9 R ¥ 78 Fread 8 7

(1) weres (2) s (3) Rrs (4) FETgH

Which one of the following pairs (local wind - region) is not properly matched ?
(1) Khamsin — Iraq and Syria (2) Blizzard —Canada

(3) Mistral — Spain (4) Fohn — Middle Europe

frefafad 3 o 3w Ry gaa-aty) gafea 98T e 7

(1) HRM — & @ |Rkar (2) forore — e

3) fgd — A (4) &M — 7= gAY

Which one of the following pair (climate — counitry) is not properly matched ?
(1) Humid tropical — Brazil (2) Monsocon - Thailand

(3) Mediterranean — Morocco (4) Temperate marine - Turkey

(11) P.T.O.
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53.

54.

55.

56.

a7.

frafafaa & o g (Searyg — <o) gifera 7878 ?

(1) Swrs ~ wwelld (2) AFRET — oTReivS

(3) PEEETIRY — HRED (4) ST SR — g
New England industrial region is located int .....cooveeence. .

(1) United Kingdom (2) Canada

(3) U.S A (4) Australia

o G0 MG TR oo, T RUT

(1) grges faren | (2) @S

(3) Ho o IR (4) smeforan

How many major agro-ecological regions and subregions have been delincated
in India by the Soil and Land Use Survey Organisation (Nagpur) ?

(1) 25 and 65 (2) 21and 60
(3) 23 and 57 (4) 16 and 55

] w4 4 SuEm v Wed ([TR) X ARG § g o wpe $iR-aRRefie
TRV U8 SumREl &1 AHia fhar § ?

(1) 25 T4 65 ) 21 &0
(3) 23 & 57 (4) 16 T 55

Who was the last scholar of the ancient Greek-Roman School ?

(1) Herodotus (2) Plato (3) Ptolemy (4) Aristotle
WA AW SEE @1 ARad g @ ar ?

(1) fRErew (2) = (3) TR - () I

Who is called the Father of Geography' ?

(1) Eratosthenes (2) Arya Bhatt (3) Strabo (4) Pythagoras
PN &1 S Te B per 9 2 ?

(1) RERAAS (2) I wg - (3) & (4) AR
The world’s tallest building is ......cccevevinne.

(1) Taipei 101 (Taipei) ~ (2) Petronas Towers (Kuala Lumpur)
(3) Burj Khalifa (Dubai) : (4) Sears Towers (Chicago)

(12)
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freg & w98 FN TG covvvvererrienn |

(1) 9T 101 (aTed) (2) IR TR (FIHTTI)

(3) gof el (39%) (4) ¥ et (fRrer)

In which Caribean country a massive earthquake occurred in fanuary, 2010 ?
(1) Jamaica (2) Dominican Republic

(3) Cuba {4) Haiti

fra AT <o A T, 2010 9 (o FHER B S o7 7

(1) st (2) Sfdfrea Rufe

(3) =g @) &h

Which one of the following pairs (epithet — country) is not properly matched ?
(1) ‘Land of morning calm — Korea (2) Land of midnight sun — Sweden
(3) Land of thousand lakes — Finland (4) Land of golden fleece — Australia
Pt % B g (Re — dm) e 7@ R ?

(1) WREERNT W &1 Q9 - iR (2) vy & QF &1 W — WA

(3) TR Ml BT Y — v (4) GTE B BT QT — AR
Southern Rhodesia is now known as ......cccveveeeenian

(1) Namibia (2) Surinam (3) Zimbabwe (4) Lesotho
R AR G F e, T AT ST D

(1) =ifear (2) g™ (3) == (4) rer
Which one of the following iron and steel plants is located in Chhatisgarh ?
(1) Bhilai (2) Durgapur (3) Bokaro {4) Rourkela
frafafen & @9 g @ sow sraEm saene ¥ Reg 87

(1) fer (2) gigR @ dBR (@) e
Tehri Dam is located in the State of .................... .

(1) Uttaranchal (2) Uttar Pradesh

(3) Uttarakhand (4) Himachal Pradesh

(1), ORI (2) SR WQ¥

(3) FRIETS (4) fewraer yawr

(13) P.T.O.
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63.

64.

65.

66.

67.

In which State the Nagarjun Sagar Project is located ?

(1) Karnataka (2) Andhra Pradesh
(3) Maharashtra (4) Tamilnadu
AR WTR uREE R W § Rerd 2
(1) @lew (2) I HSw
(3) WBRE: (4) dfiverTrg
Constantinople is known as ......ccccccvinn
(1) Khartoum (2) Kinshasa (3) Harare (4) Istanbul
AT T H ovvssinns. @ FH ST ST
(1) GrqH (2) favamar (3). 'R (4) T
- The national capital of Brazil is ........c..coueuuie
(1) Sao Paulo ' {2) Brasilia
(3) Rio de Janeiro h | . (4) Recife
AT B TG RO <ceecrerernrne T
(1) arir B @) FehRmn
@) R & o @) R
Which one of the following pairs (industry — centre) is not properly matched ?
(1) Copper — Khetri : (2) Cement — Gorakhpur
(3) Alluminium — Korba _ (4) Paper — Hoshangabad
Pr=ferie & @1 g (G - o) gt 7T & 7
(1) dfar — & (2) Wiz — iREg
(3) sgfHfan — et (4) BT — BRITETS
Which one of the following pairs (minerals — district) is not properly matched ?
(1} Manganese — Balaghat (2) Coal — Dhanbad
(3} Bauxite — Sonbhadra (4) Iron ore — Singh Bhumi
fr=fafaa d @19 gm (@fre — o) gafea 787 8 2
(1) HT S — FTTEe (2) DY — AT
(3) dfgarge — ANHR (4) <ite sraww — RiE A

(14)
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Mesopotamia is now known as ... _
{1) Iran (2) Morocco (3) Iraq (4) Maurutania

FAOEIAT TAHA F .o, B H AT AT B -

(1) KA (2) ARy NOR L (4) et
The world's largest producer of Cotton Textiles is ......ccvovvreecnees o

(1) China (2) Brazil (3) India (4) Egypt
G T T e BT gETH STEEF o B

(1) 9= (2) sl (3) HRA @) P
Who is the author of ERDKUNDE ?

(1) Humboldt (2) Karl Ritter (3) Hettner (4) Ratzel
HEHOS' T AGFH DA B P

(1) &=ege (2) et Aex (3) TR (4) Yeore
Which one of the following pairs (river ~ city) is not properly matched ?
(1) Tigris-Euphrates — Baghdad (2) Congo — Lagos

(3) Nile - Khartoum | (4) Mekong — Ho Chi Minh city
e 3 39 39 (@9 — o) gAf 7@ R ?

(1) STA-TFIRT — LIS (2) WO — AN

(3) et — TRGH (4) W@ — & A A Rl
Which one of the following pairs (river - city) is not properly matched ?
(1) Sabarmati — Ahmedabadi o (2) Narmada — Heshangabad
(3) Brahmaputra — Guwahati (4) Ghaghara — Lucknow
Rr=fafas & B4 7w (18 — ) G 7 & ?

(1) WSRAN — BASETS - (2) w1 — QrErrETE

(3) FEIgH — AT (4) HTER — TS

Where is the National Remote Sensing Agency located ? |

.(1) Dehradun (2) Bangalore (3) Hyderabad  (4) Ahmedabad

w@u@aﬁaﬁaﬁwﬁfrﬁuﬁ%?

(1) <ewrgH (2) qTgH (3) BERETY (4) EHETETE
(15) P.T.O.
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74. Who among the following scholars is called the 'Father of Human Geography ?

(1) F. Ratzel (2} V.de La Blache
(3) ']. Brunhes (4) E.Huntington
Frafofea gt F i wme Eite & S9e Bl oIR8 7
(1) Twe ¥Tod (2) 9o S & W
(3) Wo g (4) go ERMeA
75. Who among the following scholars was the supporter of 'Possibilism'’ ?
(1) E.C.Semple (2) L. Febre (3) Aristotle (4) E. Ratzel
fr=fafen gt # @9 wrEER o1 dvw o ?
(1) %o %Mo JgA  (2) T W (3) aRw (4) Two Yeud

76. Name the tribe whose main economic activity is pastoralism.

(1) The Jaunsaries (2) The Todas (3} The Khasis {4) The Tharus
SN &7 9/ qagy et gea anfdis Tiofafe uger )

(1) e (2) e (3) & =h @) =%
77. Indira Sagar Dam is located in ......oovcvereenn
(1) Madhya Pradesh . {2) Maharashtra
(3) Rajasthan . (4) Gujarat
(1) 7eg wder {2) HERS
(3) isTedr (4) ORI
78. The country having the largest Pettoleum reserve in the world is ...c.ccovvverennns
1) Iraq (2) U.S. A. (3) Iran (4) Saudi Arabia
o @ Rreg ¥ geem SRR R AT AW o 2
(1) R® (2) o I R (3) R (4) §&HL aRy
79. The State having the second highest level of urbanisation and the literacy rate in
India is ..oceceevevreeenee
(1) Goa (2) Nagaland (3) Mizoram (4) Tamilnadu
(1) ey @) RS (3) A (4) firerrg.

(16)
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Which one of the following pairs (concept — supporter) is not properly matched ?
(1) Determinism — F. Ratzel

(2) Stop-and-go determinism - G. Taylor

(3) Possibilism - J. Brunhes

(4) Probabilism ~ L. D. Stamp

frfoRaa § o9 W (Feoaw — awie) ghfad 78 © 7
(1) Frafiarg - ywo Yewte

(2) va-eR-smet PafaE — o TR

(3) ¥™EEE — Sio I

(4) FERTEER — Tdo So ¥

Which one of the following pairs (shifting cultivations — country) is not properly
matched ? '

(1) Ladang - Indonesia (2) Chena - Sri Lanka
(3) Jhuming ~N. E. India - (4) Milpa — Bangladesh
P % #h g (eiaRoer B — ) G T S ?
(1) &= — gvemidEr (2) aF7 — dAHT

(3) T — Jo Yo ART (4) e — ARy

The country having the largest reserve in the world of high grade Coal

(1) U.S. A (2) China (3) India (4) South Africa

R ¥ T B @ B B geee T TR A 2 o 2

(1) o sy wdR&T (2) 914 (3) WRa (4) =féror amre
The largest producer of Bauxite in the world is .......ccooeevrennns :

(1) India (2) Surinam (3) Australia {4) Zimbabwe
(1) (2) g™ (3) sifgforar (@) Rrara

The largest city of the world, in terms of population, is ......ccovvveeees .

(1) Tokyo (2) Mumbai (3) MexicoCity  (4) Lagos
SR @ Faw # v B gEH TR 2|

(1) Sfp (2) g (3) A R, (@) @

(17) P.T.O.
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85.

87.

The States having the highest rate of population growth (1991-2001) and the
highest per centage of scheduled tribe population are .................... respectively.

(1) Manipur and Mizoram (2) Sikkim and Meghalaya
(3) Nagaland and Mizoram (4) Nagaland and Jharkhand

Hated TN gfg a¥ (1991-2001) &R rYfad WGy @ SEEem @1 wdied
FRIYRT G ST T oo 2]

(1) PR @ iRy (2) Tufewa wd Femem
(3) ATTIvE Ud fwRe (4) TS U9 SIRETS
Which one of the following does not belong to the group ?

(1) Graduated Circle (2) Coloured glasses
(3) Prism ' (4) Trough compass
Prafafaa 3 21 wE @ i 72 8 2

(1) afenfea ger (2) = e

(3) forow (4) ¥ FE

Which one of the following is not included in the process of setting of
Theodolite ?

(1) Centering (2) Levelling

(3) Measuring horizontal angles (4) Zero setting

fr=fafaa & f&e Rraeionse & wimm & uipsar 3 wfffe 787 far oman 2 7
(1) FH= (2) v

(3) &fest @l o AT (4) T A

Find out the odd item in the following group :

(1) Mechanical method (2) Triangle of error method
(3) Graphical method (4) Rise and fall method
fr=fafea W & e va Ty

(1) iy fafy (2) T frger By

(3) amerdr Ry | (4) S v e R

A minimum of how many satellites are needed to receive reliable data by GPS ?

mﬁﬁwmmmﬁmmﬁm%ﬁmﬁﬁw
?

(1) 4 (2) 5 - (3) 2 4 3
(18)
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In which State of India the percentage of agricultural labourers to total workers
is the highest ?

(1) Bihar: (2) Orissa:

(3) Andhra Pradesh (4) Chhattisgarh

Ra @ e oy ¥ g wiaa § after augyl a1 aftvera waifte 8 7
(1) fasr () ST

() 3 Y () s

The boundary line drawn between India and Pakistan is .......c.c.ccoeuu.
(1) Siegfried line (2) Durand line’

(3) Mc Mohan line (4) Redcliffe line

TRY AR ufrwms & $rg il T 9 e 24

(1) Rympls Y@ - 2) e X

(3) &% MeT ¥ @) S

Which one of the following pairs (State — date of formation) is not properly
matched ? :

(1) Haryana — 29 Jan., 1970 (2) Mizoram — 20 Feb., 1987
(3) Jharkhand — 01 Nov., 2000 (4) Gujarat — 01 May, 1960
Prefera % w9 7w (on — o 2 RRY) fe 78 & ?

(1) sRamm — 29 W9 a9), 1970 (2) fARE — 20 was, 1987
(3) s@vs — 01 Faw%, 2000 (4) TR — 01 718, 1960

When the first population census was conducted in India ?

m‘&rﬁn’aﬁ,mmaﬁmﬂ?

(1) 1885 ‘ (2) 1901 (3) 1872 (4) 1891
Where is Kalahari desert ?

(1) West Asia (2} South-West Africa

(3) Western Australia (4) West Africa

BISHENY Howerel hel & ?

(1) uf¥aw qf¥mr (2) feror-uf¥=m ampYer

(3) uf¥w sireforan (4) uf¥em sbte

(19) P.T.O.
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935.

96.

- 97.

98.

Which one of the following is not a spatial factor of a State ?

(1) Location (2) Shape (3) Size (4) Boundary
frafafea & o v &1 e ore 78 2 ?

(1) srafeerf (2) smepfir (3) SMHR (4) o
Global strategic view (model) was first put forth by ..o .

(1) A.T.Mohan (2). A. D. Seversky

(3} S. B. Cohen (4) N.].Spykman

Mee wefom el FHea) Y V9 ..., BRI KA T 727
(1) To o HewT (2) Yo o At

(3) wHo o HEA {(4) THo Wo WEHAT

Which one of the following pairs (country — capital) is not correctly matched ?
(1) Brazil - I-Brasilia (2) Algeria — Algiers

(3) Morocco ~ Marrakech (4) Tunisia — Tunis

Prefoes & 9 7 (3w — <o) g T 2 7

(1) st — st @) siRaT — s

(3) ARG — AODHI (4) eghfIrar — <gfoer

Which one of the following is not a model of urban structure and structural
growth ? .

(1) Concentric zone theory (2) Nested hierarchy theory
(3) Sector theory (4) Multiple nuclei theory
Frafafas # I TR o @R WaTow Qe o dea 788 7
(1) o= e g (@) TRl g Rigra
(3) @wwEg Rigrt (4) sgTtds Rygr=

Which one of the following does not belong to the group ?

(1) Ninety East ridge (2) Wharton basin

(3) Clarion fracture zone (4) Carlsberg ridge
P § P o § wafa T8 8 ? |

(1) = gdi YUK Fied (2) 8&7 ofT

(3) wIRTT 991 &3 (4) ®IT Hed

(20)
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For the Middle East and S. E. Asia the term 'Shatter belts' was used by

.................... in 1973.

(1) G.B.Cressey (2) L.D.Stamp

(3) D.W. Meining (4) S.B. Cohen

1 G O w0 Qo TRAT B RIG 1973 Ah NG TE BT e
ey |

(1) SNo Mo H{ (2) Telo So X

3) | o E==o A (4) wo o BT

Shivasamundram (Karnataka) and Kalpakkam (Tamilnadu) are important for
.- TEspectively.

(1) Hydel power and Nuclear energy (2) Thermal and Nuclear energy

(3) Nuclear energy and Hydel power (4) Solar power and Nuclear energy

(1) Sorefed 3 @ St (2) a0 g TS FHor
(3) e Hel ga sTaeida (4) ¥R wfer o TAB St

In which year the capital of India was shifted from Kolkata to New Delhi ?

forg o # g & awEn widerT ¥ T8 R wmaia & T ?
{1) 1906 (2) 1920 (3) 1910 (4) 1911

Among the following scholars who was the supporter of principle of proflt
maximisation in the location of industries ?

(1) Alfred Weber (2) E.M. Hoover
(3) Greenhut (4) T.Palander

@mmﬁﬁw%wﬁwﬁmmﬁmwm
oqr -

(1) s QR (2) %o THo §X
(3) #Ee (4) o Yeivsr
(21) P.T.O.
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104.

105.

106.

107.

108.

Which one among the following is not a method for identifying the degree of
concentration of industries ? '

(1) Localisation curve (2) Localisation coefficient

(3) Location quotient (4) Coefficient of specialisation
Freferfens & B SelT @ wdva @) WA B A Y T Ay @ 2
(1) IS 56 (2) FAISHR IUh

(3) gy @Ry (@) R B orH

Which one of the following is not a fundamental function of biospherg ?
(1) Deformation (2) Absorption (3) Differentiation (4) Reproduction
Prrfafaa § o9 Naavea o1 More ord 787 & ?

(1) R @ wiftern  (3) R @ s
Which one of the following is not a type of ecosystem stability ?

(1) Constant stability " (2) Elastic stability

(3) Inverse stability (4) Cyclical stability
fawiferRaa 3 @ oiRRufae = 2 Rexar @ v yoR 76T 8 7

(1) waa Rerar - (2) draqu Rerar

(3) wfared Rerar (4) =T Real

Approximately what percentage of world's total population and total resource
consumption is accounted for by the developing countries 7

(1) 70 & 30 2) 60&40 (3 90&10 . (4) 80&20

g & oo owwen IR A dWEE SwHN @ wm feem e & fag
Rrreeiier o1 STRaTE § ?

(1) 70Td 30 (2) 607F 40 (3) 90T 10 (4) 807420
Capeyark peninsula in Australia is importaht fOr e reserve.

(1) Gold " (2) Bauxite (3) Iron ore 4) Méhganese
ARG T DY T oo B GG R & ForQ wEmm 21

(1) waof (2) sfearEe (3) e s (4) FA

(22)
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'SELVAS' in Brazil is ..cvcccevveevvereens

(1) High mountain pastures (2) Subtropical grasslands
(3) De_nse equatorial forests (4) Coffee producing areas
ATSRer  RUT R o g

(1) 9= u&fg grrms (2) SUIST 919 BT AEH

(3) Wud FEREN 99 (4) wEdT SAEH &

Whiéh_one of the following is a calculated measure of central tendency of a
frequency distribution ?

(1) Mode (2) Mean (3) Median (4) Midpoint

ferrfea # B IR ge & Bd g & aRef a8 ?
(1) 9go® (2) Arm (3) wfeamr (4) weI®

The concept of growth pole was for the first time put forth in geographical space
| +) 1

(1) 1. R. Boudville (2) D.F. Darvent

(3) A. R Kuklinski (4) J. R. Lasuen

m ya B HaedT B RANeE Ta B el F W e TR
]

(1) Slo dRe ISl (2) Sl Two =<

(3) Yo IRo HaewE (4) Wo R0 YR

Who defined geographical as 'accurate; orderly and rational description and
interpretation of the variable character of the surface of the earth ?

(1) Carl Sauer (2) A. Hettner
(3) R E.Dickinson (4) R.Hartshorne

CUSEE w%ﬁﬁﬂﬁr{ﬁwﬁqiﬁrwﬂmqgwqmwmﬂﬂh@
W%%ﬁﬁmﬁqﬁmﬁﬁm?

(O o W (2) o dew

(3) IRo 3o ffFw= (4) R0 FETH
(23) P.T.O.
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113.

114.

115.

116.

Who ai‘nong the following does not belong to the group ?

(1) Spearman (2) M. G. Kendall
(3) Abraham de Moivre (4) Karl Pearson
Preferen % P wiE @ wwi 78 8 7

(1) e (2) THo Sho BUST
(3) ErEH € W (4) & FrRET

In Andes mountains the uppermost zone is called ................
(1) Tierra Helada . (2) Tierra Caliente
(3) Tierra Fria (4) Tierra Templada
(1) TR &7 | (2) o &

(3) ¥ &= (4) oiareT 83

The Rimland concept is associated With ................... .

(1) Cohen (2) Fairgrieve

(3) Spykman " (4) Seversky

(1) @ (2) Haxda

(3) wgHAA 4) q9=}

Which country in South America is world famous for livestock ranching ?
(1) Brazil (2) Argentina

(3) Colombia . (4) Venezuela
gl sl # a9 qw sEER @ foy R afg 8 7

(1) sl (2) FFTeIg

(3) Pafar (4) IvgLe

(24)
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Which one of the following pairs (strait - countries) is not properly matched ?
(1) Palk strait — India and Sri Lanka
(2) Luzon strait — Taiwan and Philippines
(3) Hormuz strait - Iraq and Iran
(4) Bering strait — Russia and U.S.A.
freafalea § o9 gm (Gosaemer — am) gafera 78 e ?

(1) UTH SesHE g — WRA Uq Hddl

(2) FOH FASHEH — WIEaM Ud fhelid=a
(3) TS WASTEHA — W VI &7
@) aRT STTeHEHY —~ 9 U o 9 3R

Which one of the following does not belong to the group ?

(1) Turkey (2) Mexico
(3) Egypt | (4) Russia
Preferied # @ wiE O watug 7@ Y 2

1) gt () Ao
(3) faw (4) w4

Organization for Economic Cooperaﬁbn and Development (OECD) was
established in the year ..

mﬁmmwﬁaﬁmwfaﬁéﬁiﬁ)aﬁwaﬁ ffa%mm
(1) 1980 (2) 1966 (3) 1991 (4) 1961

Among the European colonizers who occupied Brazil ?

(1) The Portugese (2) The British
(3) The Spainiards (4) The Dutch

R SurerRt F e rolier R e werRi i ?
(1) gefmelt (2) fRTarh

(3) Qarh (4) sRveaR

(25) P.T.O.
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121,

122.

123.

124.

According to 1999-2000 data which State of the country had the lowest per-
centage of population below poverty line 7

(1) Punjab (2) Haryana
(3) Jammu & Kashmir : (4) Himachal Pradesh

a¥ 19992000 3 ifFsl B IR W B fpw woy A WA A W F N B
ST HT e w9l B 87

(1) v (2) eRamm
(3) o N BN 4) fmras wdwr

The gradual change in the manner of population growth occuring over a long
period of time is known as ....................

(1) Population explosion (2) Demographic transition

(3) Demographic dynamics (4) Fertility transition
mgaa%maqﬁwaﬁwmﬁmmwaf ....................
$El W 7 |

(1) oo faepe (2) wHifeDHa FHA

(3) vHifFerg T (4) TFAAAT AHA

Name the scholar who said 'Resources are not they become.

(1) E. A, Ackerman (2) C.F.Jones

(3) J. W. Alexander (4) E.W. Zimmerman
fag &1 90 qeEy AT @81 WERE ek TE e E |
(1) $o To IFHAT - (2) o THo =g

(3) o Teo FAFRIVER  (4) 3o s=gp ReRiE

Who defined human geography as the 'study of .c:hanging relationship between
the unresting man and the unstable earth ?

(1) Vidal de La Blache (2) E. Huntington
(3) F. Ratzel (4) E.C.Semple

(26)
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AT aﬁ?ﬁaﬁﬁmﬁamﬂaaﬁ?aﬁmaﬁﬁa}vﬁaﬁmﬂamww
& Wy ¥ e uftaifa faar ?

(1) argsd €Y a1 = (2) %o EfdTeq

(3) o Yeuie (4) %o Ho WG

The deepest portions of sea are found in .................... Ocean. |
(1) Indian (2) Atlantic (3) Pacific (4) Arctic
VR (AIR) & IR TER HT ..vvcnerrsennnn. TRITR F G o0 | |

1) fe= (2) Feaifess  (3) W (4) sn@few

The time difference between tides at any particular place near the equator

(1) 12 l;lours: (2) 12 hours and 26 minutes

(3) 24 hours (4) 24 hours and 52 minutes
;@Ta’#ﬁﬁﬁﬂﬁqmﬁﬁﬁwmwzﬁwﬁ rerenes BT AR

}

(1) 12 ©er1 : (2) 12 e Ta 26 e

(3) 24 Her (4) 24 "er g 52 fimc

Which one of the following concept is not related to Mackinder ?

(1) The Heartland (2) The Midland basin

(3) The Geographic pivot (4) The Airpower model

frfafan § B9 deer Afaver @ wafya 78 1

(1) gez-wre (2) TemeF ARE

(3) Mfere Ry (4) srggielda disel

Select the odd item in the following group :

(1) Chandigarh  (2) Delhi (3) Aizawl (4} Puducherry

Frafafed g #§ W UT B T PR -

(1) =8rms (2) faeeh (3) o @) g3

(27) P.T.O.
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129.

130.

131.

132,

133.

The highest water fall of India (Jog) is located in the State of .......c....c...c..
(1) Karnataka (2) Tamilnadu (3) Maharashtra (4) Uttarakhand

qRA &7 FADNG SAT AN (ST oo <rog ¥ Rerd 2
(1) we®w (2) affrerarg ~ (3) HBRTE (4) SRS

Which one of the following organisation was replaced by the World Trade
Organisation (WTO) ?
(1) UNIDO (2) GATT (3) UNCTAD (4) UNDP

Ww&mqmwﬁmWW(m@sﬁ)aﬂmﬁ
It

M T ) #e (3 daers ()
Nagoya industrial region is located in ................ island.

(1) Honshu (2) Shi Koku {3} Hokkaido (4) Kyushu
AT SIS TR oo 81T A R 2

(1) sy (2) Ry (3) eder (4) T2
Name the scholar who first examined the 'population resource relationship’.
(1} Gunnar Myrdal (2) W. W. Rostov

(3) T.R Malthus : (4) E. W. Zimmerman

fgF 1 9 Tasy R qdues SR e B AR @ |
(1) TR el (2) S=<ge S&go A&
(3) o 3R AR (4) 3o T=go FormA

National Atlas and Thematic Mapping Organisation (NATMO) is located

(1) New Delhi (2) Dehradun

(3) Hyderabad (4) Kolkata

RS Yooy 0d MARE ST (FAEA) e, H RO B
(1) = e (@) g

(3) BETE (4) PreTeRIC

(28)
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134. The Asz'a_n Drama of Gunnar Myrdal is a study of .............c..... .

(1) Economic cooperation in Asia (2) Poverty of nations in Asia
(3) Status of drama in Asia (4) Political rivalry in Asia
(1) of¥rn & snfdfe wedmr (2) cimad 2t § T
(3) <f¥rar # A I Refy (4) of¥rar § Tt wieet
135. Whlch one of the following is not an igneous rock ?
(1) Basalt (2) Granite (3) Gneiss (4) Gabbro
fr=faRas 3 @I s =ge 78 8 ?
(1) 9= (2) e (3) = (4) Ay
136. The seven stages of town growth were put forth by ....ccoivevenenn
(1) Griffith Taylor (2) Jack P. Gibbs
(3) Lewis Mumford (4) W.R. Thompson
(1) frfry SoR (2) & o firsw
(3) R TR | (4) S0 FRo oI
137. The term (urban) fringe was first used by .................... in 1937.
(1) O.D.Duncan (2) T.Lynn Smith
(3} H. Tisdale ' (4) A.N. Clark
(TR) QU T8 BT TERT S AR 1937 H .. §IRT 307 T
(1) 3o o e . (2) <o o oy
(3) THo feesd (4) To THo FATH
138. World Population Day is observed on ......ccccovueinn
(1) 21 March (2) 11]Jul
(3) 05June (4) 22 April
freq TG RET e B AT TR 8 |
(1) 219 | @) 11 g
(3) 05 9= (4) 22 3

(29} P.T.O.
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139.

140.

141.

142.

143.

Which one of the following is riot a system of scaling in geography ?

(1) Nominal . (2) Interval

(3) Ordinal : (4) Continuous
Frerfofa § @ e # ww (@ 1 valy T2 ?

(1) & ya® | (2) IR GED

(3) 1 (&) W g
Which one of the following pairs (revolution ~ product) is not properly matched ?
(1) White — milk (2) Blue —fish

(3) Brown - thermal power (4) Yellow — oil seeds
frafafes & H19 gw (@R - saR) gafaa 78t 2 ?

(1) ¥ — g () R — wud

(3) & — @ fAegy (4) 99 — ReEs

Among the European colonizers who were the first to enter Indian ocean
realm ?

(1) Portugese (2) British (3) French (4) htalians
TR Sufderet # e wew Tse R Wk uRaveer # yawr fear ?
(1) gt (2) faTamh (3) WA (4) seoiars

In how many categories urban settlements are classified by the Census of India ?
WRER VAT B A St @ fao APt F ofiga o §7
(1) 6 (2) 8 (3) 5 4) 4

Name the scholar who explained the stages of economic growth.

(1) W.W. Rostov (2) E.Perroux

(3) Gunnar Myrdal (4) A. Q. Hirschman
ﬁwwwwﬁmﬁmﬁmﬁﬁw@aﬁmﬁl
(1) S=Yo Yo I (2) Tho ORI

(3) TR fcia (4) o 3o fRefiw

(30)
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The point of origin of an earthquake is called ..oovvevvvvnnn

(1) Epicentre (2) Quake centre
(3) Seismic focus | (4) Tectonic centre
BRI B ST (4G B oo FE W © |

(1) 4 % (2) BT W

(@) o g« (4) efia fag

The 'zone and strata thedry‘ of evolution of human races was propounded

(1) D.N.Majumdar (2) G. Taylor

(3) Herbert Risley (4) A.L.Kroeber

T T B 7 R B BRI T WER R BTG orerercerens BN
foar | '

(1) €0 To WA (2) o TR

(3) '@ Rt (4) Yo Telo ISR

Which one of the following is an example of piedmont plateau ?

(1) Tibet (2) Peru . (3) Bolivia (4) Paitagonia
frfafea & @9 Mot 1BR @1 g& SEERT & 7

(1) fossa (2) T (3) FAfam (4) Yermifrar
Which one of the following rivers changes its course most frequently ?

(1) Ganga (2) Kosi (3) Mahanadi (4) Tapti
Prefafe 2l # o e ST Anf aRaffa wed # 2

(1) @ o @) wEr (4) e
International map projection is a modified version of .................... projection.
(1) Mollweide’s (2) Bonne's

(3) Polyconic (4) Cylindrical

ARSI AFRR WD coveceererenisn, HAY BT EYRIRT @Y B |

(1) "redrs (2) 99

(3) TgIEHR (4) IR

(31} P.T.O.
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149.

150.

First Earth Summit was held in 1992 in .................... )

(1) Nairobi (2) Istambul

(3) Stockholm (4) Rio de Janeiro
W ged) e 1992 H ... ereeen A ST fo27 1T |
1) M@ (2) T

(3) Iped (4) Rar & st
International Rice Research Institute is located in ................
(1) Manila ' (2) Rome

(3) Mexico City (4) Hyderabad
IO g Y & oo § RET B

(1) #em (2) W=

(3) A f7d (4) BavmIR

(32)
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